Lattice Multiplication (B)

50 x 797

81 X

438

70 X

493

Use lattice multiplication to find each product.

45 x 946

14 x296 =

35 %207 =

79 x 238 =

22 x 111 =

42 x 281 =

19 x 841

91 x 466

84 X

175
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Lattice Multiplication (B) Answers

Use lattice multiplication to find each product.

5 0 4 5 7 9 1 9
3 10 7 3 4 9 1 1 ) 0 07
3L 5 0 a4, 6|/ 5 1 4/ 8 1 8l 2
4 /10 9 I 2 4 2 /12 3 0 /13
9, 57 0 2L 6|7 0 8 1 7 5., 4, 6
3 10 7 2 3 6 5 /17 3 0 0
8l 5 0 5, 4,7 0 8l 6| 2 9 1 9
5 0 7 0 0o 2 7 9
50 x 797 = 45 x 946 = 79 x 238 = 19 x 841
39,850 42,570 18,802 15,979
8 ! 1 4 2 2 o 1
%% 2044 0 , 0 | 4%604
A0 o, 2|/ 8 o, 2 2 =10
51,7 4,/ 3 3 013 9 010 1 217 4 6
10 4, 9/ 6 20, 21 2 =10
4 4 8 8 012 6 0 10 1 4 4 6
—3 1 6 4 a2 2 g
4 4 4 2
81 x 438 = o . 91 x 466
35,478 14 X296 =4, 144 22 x 111 =2,442 42,406
27 00 2 04 02 08 04
3L, 8 0 4 00 61 0 2 1 8l 4 2 | 8| 4
46 %0 09 70 00 00 132168 45 628
2 0 3 51 0 0 1 4 /12
5 1 0 5 | E 7 P ) 710, 0
1 0 5 0 2 0 0
70 x 493 . 42 x 281 = 84 x 175
34,510 35x207=7.245 17 g2 14,700
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